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4. (20%) a. What are eddy current losses? What can be done fo minimize

eddy current losses in a core? '

b. What is armature reaction? How does it affect the operation of
a dc machine?

¢. What is the difference between a synchronous motor and a
synchronous generator?

d. Explain the meaning of the “short-circuit ratio” of a
synchronous generator?

5.(20%) A 208-V six-pole Y-connected 25-hp design class B induction motor
is tested in the laboratory, which the following results: '
No load : 208 V, 20 A, 1200 W, 60 Hz
Locked rotor : 26 V, 60 A, 2160 W, 15 Hz
DC test: 16 V, 64A
a. Find the equivalent circuit of this motor.
b.  For this motor with a slip of 0.05, find the line current Iy and
the stator copper losses Pscr.
( Hint: Class B induction motor X,=0.4X g, X5=0.6X15)

6.(10%) A 60-Hz synchronous motor is coupled to, and drives, a 50-Hz
synchrongus generator.
a. How many poles does each machine have?
b. At what speed does the motor-generator set operate?




